BITRIAL-##HH (CERI0FE281HEAE)

JE3 7l 2 = B HEA
AWL—TH 730 743 1,473 721
AIL=TH 674 668 1,342 558
ALU=TH 517 518 1,035 478
#Hra—TH 493 540 1,033 508
SR ="TH 923 972 1,895 806
HyA=TH 634 640 1,274 532
S AMTH 469 482 951 419
SMIARTH 641 669 1,310 598
HBRTH 253 269 522 243
MR tTH 827 836 1,663 692
S a/)\TH 472 483 955 416
BMITA/ATH 749 746 1,495 642
HEsAS—TH 419 402 821 352
HESA-TH 1,076 1,070 2146 1,013
s a8=TH 757 786 1,543 707
B a8—TH 623 631 1,254 558
B8 _TH 498 430 928 400
EE#sa8=TH 283 275 558 253
B ANMTH 695 646 1,341 580
EF7i0 453 477 930 415
FEFHIA—TH 191 206 397 176
HEFIOZTH 494 514 1,008 422
BEFA=TH 850 878 1,728 702
HEFIMTH 904 944 1,848 746
BEFARATH 484 474 958 411
FLEFFIANRTH 490 511 1,001 440
BEFIOETH 742 761 1,503 686
a8 57 1,459 1,628 3,087 1,554
BiAR 370 356 726 352
EFAhR—TH 485 508 993 466
EFAGhR-TH 256 245 501 247
EFAGhR=TH 604 609 1,213 550
EFAhRMETH 590 618 1,208 593
EFAhRETH 272 284 556 224
EFARE—TH 647 708 1,355 633
EFIAEI—TH 626 708 1,334 631
FiR 486 404 890 383
HR—TH 865 853 1,718 732
HHR-TH 1,826 1,876 3,702 1,594
BEHR=TH 1,115 1,137 2252 892
BRIUTH 557 605 1,162 505
tdR—TH 766 778 1,544 635
dHR=TH 1,100 1,102 2,202 907
dHR=TH 501 465 966 453
Fh R T ET 405 441 846 346
= 1,936 2068 4,004 1,732
BE¥E—TH 949 949 1,898 792
BEYE—_TH 962 919 1,881 752
EYE=TH 826 813 1,639 685
EYENTH 1,119 1,139 2258 957
EYERTH 693 704 1,397 592
EM=/TH 524 553 1,077 447
BERIx 561 587 1,148 533
hR—TH 337 344 681 336
hR-TH 692 717 1,409 643




JE3 7l 2 = B HEA
EM—TH 387 374 761 391
EFE-TH 686 711 1,397 650
ER=TH 503 490 993 379
HYE—TH 500 515 1,015 434
HPE_—TH 547 588 1,135 461
HYE=TH 1,008 994 2,002 815
HYEMTH 531 558 1,089 493
HYEARTH 868 915 1,783 810
HYENTH 263 264 527 252
<HEWL—TH 719 732 1,451 640
<HEWLWZTEH 774 766 1,540 717
<HEWLW=TEH 615 595 1,210 543
<HELMTH 570 561 1,131 571
<HFEWARTH 456 366 822 377
YEXRE—TH 859 848 1,707 778
YEARIZTH 562 570 1,132 469
LtHE 402 424 826 428
s 8—TH 645 839 1,484 857
HETS8-TH 292 332 624 357
By AR=TH 769 878 1,647 592
iU TH 365 396 761 345
£ IS H 34 31 65 25
£ 932 962 1,894 846
{20 322 306 628 308
hiEER—TH 561 539 1,100 442
hiEEM=TH 388 385 773 326
faiEER—TH 684 662 1,346 633
fAiEER=-TH 594 628 1,222 518
R A 338 328 666 292
BHR 351 274 625 289

it 54,395 55,520 109,915 48678




